[
<[+

L4 .
Force Engineering & Testing Inc.
19530 Ramblewood Drive
Humble, TX 77338

Product Evaluation Report

RPS METAL ROOFING & SIDING, INC.

Min. 26 Ga. Super Pro PBR Roof Panel over 1x4 Wood Purlins over 15/32”
Plywood

Florida Product Approval # 6095.6 R5
Florida Building Code 2017
Per Rule 61G20-3
Method: 1-D

Category: Roofing
Subcategory: Metal Roofing
Compliance Method: 61G20-3.005(1)(d)
NON HVHZ

Product Manufacturer:
RPS Metal Roofing & Siding, Inc.
302 4" Ave.
Welaka, FL 32193

Engineer Evaluator:
Terrence E. Wolfe, P.E. # 44923
Florida Evaluation ANE ID: 1920

Validator:
Brian Jaks P.E. #70159

Contents:
Evaluation Report Pages1-4

COA ','r.x""-...-"\;e'\
2T %, ONAL BT\
it

FL# 6095.6 R5

APRIL 18. 2019



Compliance Statement:

Product Description:

Panel Material/Standards:

Panel Dimension(s):

Panel Fastener:
equal.

Substrate Description:

Allowable Design Uplift Pressures:

FL# 6095.6 RS

=
A

v
Force Engineering & Testing Inc.
19530 Ramblewood Drive
Humble, TX 77338

The product as described in this report has demonstrated compliance with the
Florida Building Code 2017, Sections 1504.3.2, 1504.7.

Super Pro PBR Roof Panel, Min. 26 Ga. Steel, 36” coverage, through fastened roof
panel over 1x4 wood purlins over one layer of asphalt shingles (optional) over
min. 15/32” APA Plywood decking. Non-Structural Application.

Material: 26 Ga. Steel, ASTM A792 or ASTM A653 G90 conforming to Florida
Building Code 2017 Section 1507.4.3.

Yield Strength: Min. 80.0 ksi

Corrosion Resistance: Panel Material shall comply with Florida Building Code
2017, Section 1507.4.3.

Thickness: 0.0185” min.
Width: 36" maximum coverage
Rib Height: 1 %" tall major ribs at 12” O.C.

#10 x 1 %" Kwikseal MB Woodbinder HWH w/ sealing washing or approved

%-14 x 7/8" Steelbinder HWH Stitch with sealing washer through panel side laps
at 20" 0.C.

Corrosion Resistance: Per Florida Building Code 2017, Section 1507.4.4.

Min. 1x4 No. 2 SYP wood purlins over maximum one layer of asphalt shingles/felt
paper (optional) over min. 15/32” thick, APA Rated plywood over supports at
maximum 24" 0.C. The 1x4 wood purlins attached through sheathing into rafters
with (2) #9 x 3" deck screws (Min. 1 4" screw penetration into rafters) at 24” O.C.
maximum. Substrate must be designed in accordance w/ Florida Building Code.

Table "A"
Maximum Total Uplift Design Pressure: 108.5 psf 183.5 psf
Fastener Pattern: 12"-12"-12" 7"-5"-7"-5"-7"
Fastener / 1x4 Purlin Spacing: 24" 0.C. 12" 0.C.

*Design Pressure includes a Safety Factor = 2.0.

‘||||||ll;'

' ’
\\“ wWCE E w":
o Q._‘:' -".0( ',
-:, ."\.‘CE~5£."°".
< . P
P A... . A
> No. 44923 Y e
=N’ K b o=
Z - STATEOF e S
o n cuS
owra % Es LORIP TS
iy %, o R

Sate G
S v enas

:,”I ONAL t‘\\\\‘
IETTTTALN

APRIL 18. 2019



T-
A

r
Force Engineering & Testing Inc.
19530 Ramblewood Drive =
Humble, TX 77338

Code Compliance: The product described herein has demonstrated compliance with
The Florida Building Code 2017, Section 1504.3.2, 1504.7.

Evaluation Report Scope: The product evaluation is limited to compliance with the structural wind load
requirements of the Florida Building Code 2017, as relates to Rule 61G20-3.

Performance Standards: The product described herein has demonstrated compliance with:
= UL 580-06 - Test for Uplift Resistance of Roof Assemblies
= UL 1897-2012 - Uplift Test for Roof Covering Systems
=  FM 4471-92 - Foot Traffic Resistance Test

Reference Data: 1. ULS580-06/1897-12 Uplift Test

Force Engineering & Testing, Inc. (FBC Organization # TST-5328)
Report No. 118-0037T-19C, D

2. FM 4471-10, Section 4.4 Foot Traffic Resistance Test
Force Engineering & Testing, Inc. (FBC Organization # TST-5328)
Report No. 118-0036T-19E

3. Certificate of Independence
By Terrence E. Wolfe, P.E. (No. 44923) @ Force Engineering & Testing, Inc.
(FBC Organization # ANE ID: 1920)

Test Standard Equivalency: The FM 4471-10, Foot Traffic Resistance test standard is equivalent to the
FM 4471-92, Foot Traffic Resistance test standard

Quality Assurance Entity: The manufacturer has established compliance of roof panel products in
accordance with the Florida Building Code and Rule 61G20-3.005 (3) for
manufacturing under a quality assurance program audited by an approved
quality assurance entity.

Minimum Slope Range: Minimum Slope shall comply with Florida Building Code 2017, including Section
1507.4.2 and in accordance with Manufacturers recommendations. For slopes
less than 3:12, lap sealant must be used in the panel side laps.

Installation: Install per manufacturer's recommended details.

RUNLLITIPN
A\ E ‘"
N e!‘_c .E-. .Ipo ‘,

SR . 'S
) 0 E T
S‘y.-\.\ [ Nse.. ”’
~ A ‘TS
-~ . R
E . No. 44513 . E
s * i g
R STATE OF e
o“Po. » c
L TLoRI DTS
smeorreme % $ge, ."’\vs
COA ’, $pireaar e N
#3677 %, ONAL A2 W

T

SRS APRIL 18. 2019



1-—
/-

— . r . -
Force Engineering & Testing Inc.
19530 Ramblewood Drive
Humble, TX 77338

Per Florida Building Code 2017, Section 1507.1.1 and manufacturer’s installation

Underlayment:
guidelines.

Roof Panel Fire Classification: Fire classification is not part of this acceptance.

Shear Diaphragm: Shear diaphragm values are outside the scope of this report.

Design Procedure: Based on the dimensions of the structure, appropriate wind loads are
determined using Chapter 16 of the Florida Building Code 2017 for roof cladding
wind loads. These component wind loads for roof cladding are compared to the
allowable pressure listed above. The design professional shall select the
appropriate erection details to reference in his drawings for proper fastener
attachment to his structure and analyze the panel fasteners for pullout and
pullover. Support framing must be in compliance with Florida Building Code 2017
Chapter 22 for steel, Chapter 23 for wood and Chapter 16 for structural loading.

A ¢
\“t“,c:-E-.-,w Y,
a2 A ',
~ . E { e
SENN Nl
~ AL . e
-~ . -
= No. 44923 -
Y * i g
'—'_';_ STATE OF e
- sy~
',.vo_PL DP;'.;":.'
— "’ & ORI ) "r“"s“
COA ‘. ¥ s s g

FL# 6095.6 RS
APRIL 18. 2019



12°-12"-12" FASTENER PATTERN AT 24" 0.C,

1/4~14 X 7/8 STEELBINDER
| 1z I 12" | 12" | HWR STITCH W/ WASHER
® 20" 0.C.

VIE BT NI TE LT TDTIRGTEETITDTIINGT TSI T TS FRET I EIT] I CTTNT TV IETTTET I T
T RTINS TSI TRIEIRTTTID

VIS BT L TETTTTETIETEN G EEETT ST TT YN STT T BT T, T
/ \\ (1> LAYER OF ASPHALT SHINGLES (OPTIONAL>

OVER MIN, 15/327 PLYWOOD SHEATHING

#10 x 1-1/2" KWIKSEAL MB WODODBINDER W/ WASHER
12°-12*-12* FASTENER PATTERN AT 24° OC. 1x4 WOOD PURLINS @ 24" OC
ATTACHED TO 2x10 WOOD RAFTERS
W/ (2) #9x3" DECK SCREWS @ 24’ OC.

TLEP_TO_EP_T" PAST 17"
1/4—14 X 7/8 STEELBINDER
| 7" | 57 | 7" i 5" b 7" | HWH STITCH W/ WASHER

! | | | | ’l © 2ot

- L L L rd L a4 /‘ ) L k- Z L : | £
VTR TVETTE TS TTEIEDFEETIEEIEDESEONWNEESE IR IETLs I ESrTySenyyssrIvErsy

(1> LAYER OF ASPHALT SHINGLES (OPTIONAL
OVER MIN, 15/32° PLYWOOD SHEATHING

#10 x 1-1/2° KWIKSEAL MB WOODBINDER W/ WASHER
7°-5*~7°-5"-7" FASTENER PATTERN AT 127 B.C. 1x4 WOOD PURLINS @ 12 O.C.
ATTACHED TO 2x10 WOOD RAFTERS
W/ (2> #9x3“ DECK SCREWS B 24° OC

\“\\\‘I‘l'l’i".'m” *2

APR LB (WOnCEE
SIUCENSE-%
SN I
S No. 44923 P

»



F

IForce Kngineering & Testing, Inc.
19530 Ramblewood Drive
Hunmble, Texas 77318
Phone: (281) 540-6603
Fax: {281) 3409966
www.forceengineeringtesting.com

Project Number: 118-00371-19C. D
Test Report Date: April 2, 2019

Test Report
Expiration Date:  April 2, 2029

Test Material: 26 Ga. Super Pro PBR Panel 36" Coverage

Test Procedure: The test was conducted in accordance with
TAS 12503
UL 580-06 f UL 1897-2012

Test Location: Force Engineering & Testing Inc.
19530 Ramblewood Drive
Humble, Texas 77338

26 Ga. Super Pro PBR Panel

{Over 1x4 Wood Purlins)

Report Prepared by: Report Reviewed by:
%/ % WtM‘fz . ? %
'Brd'ndﬁ ek "PE. Terrence E. Woife, P.E,

Lob Mc: Director of Operahons

MIAMIDADE ACCRECITED : TEXAS DEPARTAMENT
COUNTY ‘
APEROVED LABORATIRY {F INSURANCE
ACCREDITED LABIRATORY

118-00377-19C.D Page t of 20




Project Number: 118-0037T-19C, D

GENERAL:

The subject of this report is a through fastened metal roof panel attaching 1x4
wood purlins.

The object of this investigation was to establish by test, the max uplift pressure
for the roof panel described in this report. The test assembly and test were
completed under the observation of a licensed professional.

TEST DATES:
March 27 & 29, 2019
TEST ASSEMBLY:
Client/Manu.: RPS Metal Roofing & Siding. Inc.
710 3@ Avenue
PO Box 397
Welaka, Florida 32193
Panel: 26 Ga. Super Pro PBR Panel, 36" coverage, 26 Ga. ASTM A792

Grade 80 Sfeel, 1 4" tall major ribs at 12" O.C.

Panel Properties: Fy = 96 ksi Steel, 0.018” coated thickness per ASTM E 8 (See
Appendix)

Panel Rollformer: Metal Rollforming Systems

Panel Fastener:  #10 x 1 '&" Kwikseal MB Woodbinder w/ washer by Sealtite

Panel Side Lap: (1) “4-14 x 7/8" HWH Stitch Steel binder w/ washer by Sealfite
at 20" O.C along the side iap.

Fastener Pattern: Test C: 12"-12"-12" at 24" O.C.
Test D: 7"-5"-7"-6"-7" at 12" O.C.

Panel Length: 91"

Substrate: 1x4 #2 or better grade wood purlins over (1) layer of asphalt
shingles over (1) layer of 30# felt paper over 15/32" 4-Ply B-C
Group 1 Exterior Plywood. The 1x4 wood purlins spaced at 24"
O.C.Test C and 12" O.C. Test D. The 1x4 wood purlins were
attached through the shingles/felt/plywood into the 2x10 wood
rafters with (2) #9x3" wood screws at 24" O.C. The plywood was
attached to the #2 SYP 2x10 wood framing @ 6" O.C.
interior/exterior with (1) 8D x 2-1/2" Hot Galv. Ring Shank
Patio/Deck Nails. 2x10 wood framing spaced at 24" O.C.

TESTING APPARATUS:

UL 580 Chamber

FET-008, FET-00% & FET-015

Equipment Calibration Date: March 2019

118-0037T-19C,D Page 2 of 20



Project Number: 118-00371-19C, D

PROCEDURE:

1. The roof assembly was subjected to all five phases of the Class 30, Class 60 &
Class 90. At the end of each phase the test specimen was inspected.

2. Throughout the test, observaiions were made of the control of positive and
negative pressures and of the condition of the top surface and the under side of
the test assembly.

3. The aclion of the roof assembly during the application of the steady pressures in
Phases |, I, IV, and V was a bowing up between screw attachments, with the
joists and plywood substrate following the same pattern.

4. The action of the test assembly during the oscillating phase of each test {Phase
1) was a rising and setiling of the members,

5. After the Class 90 phase. the positive pressure was set at 9.3 inches of water and
remained constant; the negative pressure was increased by increments of 15 psf
until the panel assembly failed.

RESULTS/CONCLUSIONS:
Test C
The maximum sustained combined test pressure was 217.0 psf. The ultimate

combined failure test pressure was 230.0 pst. The failure mode was the panel
pulled over the fasteners.

Test D
The maximum sustained combined test pressure was 367.0 psf. The ultimate
combined failure test pressure was 375.0 psf. The failure mode was the 2x10 rafters

failed.

Note: During this test, tape and plastic were used to seal against air leakage. The
tape and plastic had no restrictive influence on the test.

STATEMENT OF INDEPENDENCE:
Force Engineering & Testing, Inc. or any persons employed by them do not have
any financial interest in RPS Metal Roofing & Siding, Inc.

Force Engineering & Testing. Inc. is not owned, operated or conlrolied by RPS Metal
Roofing & Siding, Inc.

No.44923
* < ¥
STATEOF /!
oA

o/%..!:\é OR \?'Y:G‘e:‘*
"'&8 AL R4 €$ “\
’l’, [ONAL ““

LTI

118-0037T-19C.D Fage 3 of 20



Appendix

118-0037T-19C.D Page 4 of 20



1/4—14 X 7/8 LAP SCREW
© 20" O.C.

\ #10 x 1-1/2° KWIKSEAL MB WOODBINDER W/ WASHER

12*~-12"-12* FASTENER PATTERN AT 24" 0.C.

1/4-14 X 7/8 LAP SCREW
@ 20" o.C.

\ $10 x 1-1/2° KWIKSEAL MB WODDBINDER W/ WASHER

71-54-7-537-7" FASTENER PATTERN AT 12' OC.

118-0037T-18C,D Page 5 of 20



261-105000-811 085 1
- — - o V. NOILO3S
‘90 0-T was I/ 4% o s 0 Sqy aVu

8. NOILI3S

N 48 & RN XIS Sl
A A RRRON @R WIS 3/ Y

TS IR ED

T A LYY LSS - -

ikt d
!Q.-\-.-s:

ES.L . wz!sn\

|
g.tgl\
i LT 3 STENDE 4D AUV D

o " Sl e 2 B ey
1NOAV] T13INVd
TaNv4 3HL 30 AR FHL NO UM G ¥ £ LNOAYT 9NINVHA

JANYd 3HL 40 Nvd JHL NI 39m 2-0 2 1-a
"NVAS QU D Tuam A ® 1-d 00 0-Z 8

qly und
SUANALSYA THL B Team -0 7 -0 V. aOF X 2 poomdid z£/51 20 T @ YU
‘SNOLLYIO' Y0LVION NOLLOF13a ™\ \|

AN 7 AN I

A | 1T I m i 71
N 1 1 H I
/ - /n_ \ 1 1 \ tii
| I M i
, ‘ ! I i "
NC| T S
1 1 | | I T I At " ||_“|||||_|_.||||._.__ |||||
/@ %u Al 1 i ]
1 1t 1l 11
__._ 4 LL T
- ___ 1 1] n =
i I n 1 1 N
< # 1 1 H =
] 1] T I
1| 11 i) IT
[] 1 1] ]
lllll 1 | R | S
i lel. T m“ m_ il
} T ———
i It Il i
S
| § 11 1]

L
-

0-01 H-01

Page 6 of 20

118-0037T-19C,D




UL 580 DEFLECTION READINGS

Test Date: 3/27/2019

Project Number: 118-0037T-18C

Panel Description: 26 Ga. Super Pro PBR

Panel Fasteners: (1) #10 x 1 1/2" Kwikseal MB Woodbinder w/ washer @ 12"-12"-12" at 24" O.C.

Panel Clip: 1/4-14 x 7/8" HWH Stitch at 20" O.C. panel side laps
Substrate: 1x4 Wood Purlins at 24" O.C. (2) 9x3" Deck screws into rafter/shingles/felt/15/32" 4-ply
Static Pressure Inches Deflection (inches)
Of H.0 (Neg./Pos.}  [D_1: Pan Mid |D-2: Pan Fas |D-3: Rib Mid_|D-4: Rib Fas
CLASS 30
0 0.0000 0.0000 0.0000 0.0000
31740 0.2500 0.2500 0.1250 0.0625
-3.11+2.7 0.4375 0.3750 0.1875 0.1250
-5.37+2.7 0.6250 0.5000 0.2500 0.1250
-4.71+0 0.4375 0.3750 0.1875 0.1250
-47/+4.0 0.6250 0.5625 0.2500 0.1250
0 0.0000 0.0000 0.0000 0.0000
CLASS 60
0 0.0000 0.0000 0.0000 0.0000
6.2/ +0 0.5625 0.4375 0.2500 0.1250
-5.2/+5.3 0.8125 0.6875 0.3125 0.1875
-10.7/+5.3 1.0625 0.8750 0.3750 0.1875
-7.8/+0 0.7500 0.6875 0.3125 0.1250
-7.8/+6.7 1.0000 0.8750 0.3750 0.1875
0 0.0000 0.0000 0.0000 0.0000
CLASS 90
0 0.0000 0.0000 0.0000 0.0000
-9.3/+0 0.8125 0.6875 0.3125 0.1250
-9.3/+8.0 1.0625 0.9375 0.3750 0.1875
-9.3/+8.0 1.0625 0.9375 0.3750 0.1875
-10.9/ +0 0.9375 0.8125 0.3125 0.1250
-10.9/+9.3 1.1875 1.0625 0.4375 0.2500
0 0.0000 0.0000 0.0000 0.0000

118-0037T-19C.D Page 7 of 20



UL 1897

Static Pressure Inches

Deflection (inches)

Of H,0 (Neg./Pos.) pq D2 D3 D-4

-2.9 0.2500 0.2500 0.1250 0.0625
-5.8 0.5000 0.4375 0.1875 0.0625
-8.7 0.6875 0.5625 0.2500 0.0625
-11.5 0.8125 0.6875 0.3125 0.0625
-14.4 0.9375 0.7500 0.3125 0.1250
-17.3 1.0000 0.8125 0.3125 0.1250
-20.2 1.1250 0.9375 0.3125 0.1250
-12.2/+9.3 1.1875 0.9375 0.3750 0.1875
-15.17/+9.3 1.2500 1.0625 0.3750 0.1875
-17.9/+9.3 1.3750 1.1875 0.3750 0.2500
-20.8/+9.3 1.4375 1.2500 0.4375 0.2500
-23.7/+9.3 1.5625 1.3750 0.4375 0.2500
-26.6/+49.3 1.8875 1.5000 0.5000 0.3125
-29.5/+9.3 1.8125 1.5625 0.5000 0.3750
-32.4/+9.3 1.9375 1.6875 0.5625 0.3750

-35.2/+9.3 FAILED

FAILURE MODE: Panel pulled over fasteners
MAX PRESSURE: 217 psf

118-0037T-19C,D

Page 8 of 20



N Wi-us Bl . n
00 Ot we| 1 od e e - Y. NOILD3S
L] AON 3 a0 ARl
TWd Yad o s Wgg, IA_ \ g, NOD3S
jh]l%i T A ML XROLIVIE L= eGmal=umed

“TANYJ HL 40 9 3H1 NO 3438 A T £-a
"HNVA FHL 50 N¥d FHL N HEM -0 7 -0
NY4S A B 3Am ea ¥ i-a

SHANAISYA IHL & THIM A P A

‘SNOLLY 20T 4OLVIIGNE NOLLDB 490 I/

INOAVT T13INVd

nnl_ e

A =

|

001

N
P-A

N\

@

\mh

L-01

INCAVT ONINVHS

\\So!f ZE/51

\- 0 T O YR

—

U | I | p——

|

Tt
11

I

L-01

L-01

Page 9 of 20

118-0037T-19C.D



UL 580 DEFLECTION READINGS

Test Date: 3/29/2019

Project Number: 118-0037T7-18D

Panel Description: 26 Ga. Super Pro PBR

Panel Fasteners: (1) #10 x 1 1/2" Kwikseal MB Woodbinder w/ washer @ 7"-5"-7"-56"-7" at 12" O.C.

Panel Clip: 1/4-14 x 7/8" HWH Stitch at 20" O.C. panel side laps
Substrate: 1x4 Wood Purlins at 12" O.C. (2) 9x3" Deck screws into rafter/shingles/felt/15/32" 4-pl
Static Pressure Inches Deflection (inches)
Of H,0 (Neg./Pos.)  |p.1: Pan Mid |D-2: Pan Fas |D-3: Rib Mid_|D-4: Rib Fas
CLASS 30
0 0.0000 0.0000 0.0000 0.0000
-3.1/+0 0.0625 0.0000 0.0625 0.0000
-3.1/+2.7 0.1250 0.0625 0.0625 0.0625
-5.31+2.7 0.1875 0.1250 0.1250 0.0625
-4.7 1 +0 0.1250 0.0625 0.0625 0.0625
4.7 1+4.0 0.1875 0.1250 0.1250 0.1250
0 0.0625 0.0000 0.0625 0.0000
CLASS 60
0 0.0000 0.0000 0.0000 0.0000
-6.2/+0 0.0625 0.0625 0.0000 0.0625
6.2/ +5.3 0.1875 0.1875 0.0625 0.1250
-10.7 /+5.3 0.3125 0.3125 0.1250 0.2500
-7.8/+0 0.1250 0.1875 0.0625 0.1250
-7.8/+6.7 0.2500 0.3125 0.1250 0.1875
0 0.0000 0.0000 0.0000 0.0000
CLASS 90
0 0.0000 0.0000 0.0000 0.0000
-9.3/+0 0.1875 0.1875 0.0625 0.1250
9.3/+8.0 0.3125 0.3750 0.1875 0.2500
-9.3/+8.0 0.3125 0.3750 0.1875 0.2500
-10.9/+0 0.1875 0.2500 0.1250 0.1875
-10.9/+9.3 0.3750 0.4375 0.1875 0.3125
0 0.0000 0.0625 0.0000 0.0625

118-0037T7-19C,D Page 10 of 20



UL 1897

Static Pressure Inches Deflection (inches)
Of H20 (Neg.fPos.) D-1 D-2 D-3 D-4

-2.9 0.0625 0.0000 0.0000 0.0000
-5.8 0.0625 0.0625 0.0625 0.0625
-8.7 0.1875 0.1250 0.0625 0.0625
-11.5 0.1875 0.1875 0.1250 0.1250
-14.4 0.2500 0.2500 0.1250 0.1875
-17.3 0.3125 0.3125 0.1875 D.1875
-20.2 0.3750 0.3750 0.1875 0.2500
-12.2 /493 0.3750 0.3750 0.2500 0.2500
-15,1/+9.3 0.4375 0.4375 0.2500 0.3125
-17.9/ +9.3 0.5000 0.5000 0.3125 0.3750
-20.8/+9.3 0.5625 0.5625 0.3750 0.4375
-23.7/+9.3 0.6250 0.6250 0.3750 0.5000
-26.6/+9.3 0.6875 0.6875 0.4375 0.5000
-29.5/ +9.3 0.8875 0.7500 0.5000 0.5625
-32.4/+9.3 0.7500 0.8125 0.5000 0.6250
-35.2/+93 0.8125 0.8750 0.5625 0.6875
-38.1/+9.3 0.8750 0.9375 0.6250 0.7500
41.0/+8.3 0.8750 1.0000 0.6875 0.8125
-439/+93 0.9375 1.0625 0.6875 0.8750
46.7/+9.3 1.0000 1.1250 0.7500 0.9375
-49.6 / +9.3 1.0625 1.1875 0.8125 1.0000
-52.5/+9.3 1.1250 1.2500 0.8750 1.0625
-55.4/+9.3 1.1875 1.31256 0.8750 1.1250
-58.3/+9.3 1.2500 1.3750 0.9375 1.1875
-61.2/+9.3 1.2500 1.4375 1.0000 1.2500

-64.1/+9.3 | FAllLED

FAILURE MODE: Rafters Failed
MAX PRESSURE: 367 psf

118-0037T-19C,D

Page 11 of 20



IHoRUE0D O
“JOMINEY LT NIV S, LE NO L¥14 ONIAYT
iguﬂsﬂﬂbﬁzl 194 HLIA SHIONIT .80 NI @3aNSY3IW SIONVRI0L 6
ANH40Hd 1INV —N .Bailwv‘g oW mzl._o_”m_mzuﬁmm K(NZ]& “AOZ mm/.n\_ I2AD
14%d SON3 4 .00 NI 2E/T ¥ 914 '3
ooy o P ey g g OLNCIB/1®  T3AIT 2
O OLBOE]_ “ON_Livd [l OF NI .B/T % IAS P
[ ) 1 1 HF NI B8/ 7 ¥3TW¥] D
¢ T 1% Y
«Z F STNY o
310N SSIWN dn INIYd muzmﬁu%gﬂmm m
stsv(] tum sy [] "ISYHd ONLISIL ONIMNG OINIWYILIT 3¢ THIA O
TILATIN * ATV NI SWH INIAVSE STHL AdYA AVH WALV NMOHS HIQIA 414LS T3LVINOW0 2
ONIAYYT WADYdGY 90 92 3 b2 GT3LA ISH 08 "IWIMILWW 1T
: TE— NON G2T' 33V 109 INIWNIS TV *
S310N
L'y VIS
vL3a
dVIHINO
v _ (. —~{ 00%" Lb=— ‘\
Y . LY
“o] |l 000t B w0z1 - l
Mg ] 00095 -
NTHIAD
LT = HIAIM di¥LS
TANVd—H

Page 12 of 20

118-00377-19C,D



. Element Materials Technology P 918258 6066
elemen‘t 3100 North Hemlock Circle F 9182581154
Broken Arrow, CK T 8009828378
74012-1115 USA info.brokenarrow@etemant.com
element.com

Laboratory Report - EAR-Controllad Data

Attn; Gianna Willits Report No: B18040227
Ferce Engineering & Testing Inc. Data Reported: 41112019

19530 Ramblewood Drive 5.0, No: 1

HUMBLE, TX 77338 US A He 45

Material: Stael

Description: (1) Test Panel, Job# 118-0036T-18, Customer: RPS Matal Roofing, Coupon §: 26 Ga. PBR

Inside Middie Half of
0.018 0.491 g8 96 2 Gags

This document contains technical data whose export and reexport/ retransfer may be subjest to control by the U.S. Depariment of Commarce under the
Export Administration Act and the Export Adminisiration Regufations. The Department of Commerce's prior written approval may ba raquired for the
export or re-export/retransfer of such technical data to any foreign person, forelgn entity or fareign organization whether in the Unltad States or abroad.

Approved by:

Hal Wheatley
Lead Machanical Test Technician

Test rasul o he ifems ested. This document Bhall pot be reproduced, excapt In ful withou! the written approval of Elemaent Matedals Technology. Tha recording of faiss, fictiious, or
e O aniit Iahabe offanse unde federal and slate law. A2LA AccredHed Laboratary Gertfcale No. 1088-01 (Mechaniosl) & 1088-02 (Chamica).

fraudulant statements or sniries on this d | maybe ap
Page 101

118-0037T7-19C,D Fage 17 of 20



